

Chemosensory dysfunction, tobacco smoking and the need of hospitalization: how do they relate? - Data from COVID_19 patients in Northwestern Greece

Zarachi Athina ^{1, *}, Lianou Aikaterini ¹, Milionis Orestis ², Pezoulas Vasileios ³, Fotiadis Dimitrios ³, Kastanioudakis Ioannis ¹, Milionis Charalampos ² and Lontos Angelos ²

¹ Department of Otorhinolaryngology, Head and Neck Surgery, Faculty of Medicine, School of Health Sciences, University of Ioannina, Ioannina, Greece.

² Department of Internal Medicine, Faculty of Medicine, School of Health Sciences, University of Ioannina, Ioannina, Greece.

³ Unit of Medical Technology and Intelligent Information Systems, Department of Materials Science and Engineering, University of Ioannina, Ioannina, Greece.

Abstract

Background: The aim of this study was to investigate the relation between tobacco smoking and chemosensory dysfunction in COVID-19 patients in Northwestern Greece. We also aimed to investigate if there is any association between smoking and the need of hospitalization, in the studied population of patients.

Methods: We used a questionnaire to select information about patient demographics, medical history, habits such as tobacco smoking and alcohol consumption and reported symptoms, during infection. In this study were included three hundred COVID-19 positive patients that were all undergone the RT-PCR test in the University Hospital of Ioannina, Greece. A number of 150 patients recovered at home and 150 patients needed hospitalization. Statistical analysis based on IBM-SPSS Statistics 26.0.

Results: Data analysis in the total sample showed that there was no statistically difference between the subgroup of patients with loss of smell and tobacco smoking in the total sample, in the group of patients that recovered at home and in patients that needed hospitalization. No statistical association was found between the patients that used tobacco with loss of taste in the total sample, in the group of patients that recovered at home and in patients that needed hospitalization. The highest percentage of patients that were tobacco smokers was found in the subgroup of patients that recovered at home and was about 20% (n = 30). The lowest percentage was 8% (n = 12) in the subgroup of patients that needed hospitalization. There was a statistically difference between the subgroup of patients with the use of tobacco and decreased need for hospitalization.

Conclusion: There is no relation between chemosensory dysfunction during SARS_COV2 infection and tobacco smoking. There is a statistically significant difference between active smokers with covid_19 infection and decreased risk for hospitalization in this small number of patients.

Keywords: COVID-19; Olfactory dysfunction; Gustatory dysfunction; smoking; Northwestern Greece

* Corresponding author: Zarachi Athina

Department of Otorhinolaryngology, Head and Neck Surgery, Faculty of Medicine, School of Health Sciences, University of Ioannina, Ioannina, Greece.

1. Introduction

It is now commonly accepted that olfactory and gustatory dysfunction caused by SARS_COV2 have a significant impact on quality of life, as many studies improved loss of taste and smell during infection seem to be related to many factors, such as age, gender, ethnicity, co morbidities and tobacco smoking (1-16).

The role of the angiotensin converting enzyme 2 [ACE2] receptor has a key role as a pathway for chemosensory dysfunction in covid_19 infection. The virus can also enter through neural olfactory epithelium cells directly to cerebrospinal fluid near to the olfactory bulb. Viral entry into the central nervous system along the olfactory tract seems to play an important role in this process. The extracellular domain of ACE2 is the cellular receptor for SARS-CoV-2 proteins that interacts causing virus endocytosis (17-26).

The aim of this study was to evaluate the relation between chemosensory dysfunction and the use of tobacco smoking, in Northwestern Greece, both in hospitalized and self-quarantined patients with SARS_COV2 infection. We also aimed to investigate if the need for hospitalization during COVID_19 infection was influenced by tobacco smoking in this population.

2. Methods

2.1. Participants

This is a prospective observational cohort study approved by the Research and Ethics Committee and the Scientific Council of University General Hospital of Ioannina. The total sample included 300 patients with COVID-19 infection, both men and women, aged from 18 to 80 years old that referred to the Emergency Department [ED] of Infectious Diseases or to the Outpatient Clinic of screening for SARS-COV2. All participants had a positive reverse transcription-polymerase chain reaction [RT-PCR] test result, between November 2020 and May 2021. An informed consent form was obtained from every patient.

The study population included two subgroups. The first subgroup of 150 patients recovered at home. These patients had a mild to moderate disease and did not need hospitalization. The other 150 patients had a severe disease and were hospitalized in the Infectious Diseases Unit [IDU] of the University General Hospital of Ioannina.

Specific exclusion criteria were used in order to determine the sample size of this research. We excluded every participant that had a previous sinus surgery, suffered from allergic rhinitis or chronic rhino sinusitis, undergone head and neck radiation therapy, had a history of head injury, psychiatric disorders, neurological diseases or medical history with olfactory and gustatory dysfunction. As these factors affect smell and taste, we considered that they should be excluded from our study.

2.2. Data collection

Data collection was performed during covid_19, at the first days of infection, using a questionnaire. One hundred and fifty covid-19 positive patients with mild symptoms that recovered at home were informed in person at the time of diagnosis, by telephone, or by e-mail, following the safety measures provided by National Organization of Public Health of Greece. One hundred and fifty patients with moderate to severe symptoms that needed hospitalization were examined in person, by one of the main investigators of the study, in the Infectious Diseases Unit of the University General Hospital of Ioannina.

Patient demographics [name, age, sex, weight height] and contact details were recorded. Medical history, reported comorbidities, associated symptoms during infection, tobacco smoking and alcohol consumption were also recorded. The questionnaire was completed by the examinee, after providing a written consent form.

2.3. Statistical analysis

The statistical analysis approach regarding the categorical data was performed using the χ^2 [chi-square] test or the Fisher's exact test in the case where at least one frequency in the contingency table was smaller than 5.

We estimated the percentage of patients that use tobacco smoking, in the total sample, in the subgroup of patients as well as in the two subgroups.

We investigated if there is statistically significant difference between the subgroup of patients with loss of smell and tobacco smoking during infection. This association was examined in the total sample, in the subgroup of patients that recovered at home and in hospitalized patients.

In a second analysis, we investigated if there is statistically significant difference between the subgroup of patients with loss of taste and tobacco smoking during infection. This association was examined in the total sample, in the subgroup of patients that recovered at home and in hospitalized patients.

We also examined the statistical association between tobacco smoking and hospitalization.

P-values and odds ratio [OR] were calculated for every feature that was statistically analyzed.

3. Results

A percentage of 14% of patients in the total sample were tobacco smokers. In the subgroup of patients that recovered at home, tobacco smokers were about 20%. This percentage was 8% in the subgroup of patients that needed hospitalization (Table 1).

Table 1 Number and percentages of patients that were tobacco smokers, in the total sample, in the subgroup of patients that recovered at home and in the subgroup of hospitalized patients

	Total sample [n= 300]	Home- quarantine patients [n=150]	Hospitalized patients[n=150]
Tobacco smokers	42	30	12
Percentage %	14%	20%	8%

The percentage of tobacco smokers with loss of smell was 8,67% in the total sample, 13,33% in the subgroup of patients that recovered at home and 4% in the subgroup of hospitalized patients (Table 2).

Table 2 Percentages of tobacco smokers with loss of smell/loss of taste, in the total sample, in the subgroup of patients that recovered at home and in the subgroup of hospitalized patients

Percentages%	Total sample [n=300]	Home-quarantine Patients [n=150]	Hospitalized Patients [n=150]
Tobacco smokers with loss of smell	8.67%	13.33%	4%
Tobacco smokers with loss of taste	13.33%	9.33%	4%

Table 3 Statistical results between tobacco smoking and loss of smell, in the total sample, in the subgroup of patients that recovered at home and in hospitalized patients

Tobacco smoking	Total sample [n=300]	Hospitalized patients [n=150]	Home-quarantine Patients [n=150]
Loss of smell	26	6	20
No loss of smell	16	6	10
P-value	0.6	0.952	0.896
Odds Ratio	1.26637931	1.15625	0.962962963

[*p < 0.050, **p < 0.005, ***p < 0.001]; [OR > 1 means greater odds of association with the exposure and outcome; OR = 1 means there is no association between exposure and outcome; OR < 1 means there is a lower odds of association between the exposure and outcome]

Data analysis in the total sample showed that there was no statistically difference between the subgroup of patients with loss of smell and tobacco smoking in the total sample, in the group of patients that recovered at home and in patients that needed hospitalization (Table 3).

In addition, there is was no statistical association between the patients that used tobacco smoking and loss of taste in the total sample, in the group of patients that recovered at home and in patients that needed hospitalization (Table 4).

Table 4 Statistically significant difference between tobacco smoking and loss of taste, in the total sample, in the subgroup of patients that recovered at home and in the hospitalized patients

Tobacco smoking	Total sample [n=300]	Hospitalized patients [n=150]	Home- quarantine Patients [n=150]
Loss of taste	20	6	14
No loss of taste	22	6	16
P-value	0.689	0.952	0.303
Odds Ratio	0.828282828	1.15625	0.603873239

[*p < 0.050, **p < 0.005, ***p < 0.001][OR > 1 means greater odds of association with the exposure and outcome; OR = 1 means there is no association between exposure and outcome; OR < 1 means there is a lower odds of association between the exposure and outcome]

Data analysis in the total sample showed that there was a statistical difference between the subgroup of patients with use of tobacco smoking and hospitalization [p= 0,005], [OR=0,347826087] (Table 5).

Table 5 Statistically significant difference between tobacco smoking and hospitalization, in the total sample

	Hospitalization	No Hospitalization	p-value	Odds Ratios
Tobacco Smoking	12	30	0.005	0.347826087

[*p < 0.050, **p < 0.005, ***p < 0.001]; [OR > 1 means greater odds of association with the exposure and outcome; OR = 1 means there is no association between exposure and outcome; OR < 1 means there is a lower odds of association between the exposure and outcome]

4. Discussion

Many studies have already shown that patients with a history of smoking and/or active smokers had significantly increased risk for severe COVID-19 disease (27-32). It is therefore critical to identify the reasons that this factor influences the course of the disease. The use of tobacco products is a potential risk factor, given its adverse effects on health and the high prevalence of use. These products have been shown to cause damage to the lungs and alter the immune system response. These effects leads to increased susceptibility to most respiratory viruses (33-36). Development of COVID-19-induced anosmia may be influenced by smoking behaviors, as many researchers had already shown (7, 37-40). However, we found no statistically significant association between tobacco smoking and olfactory and gustatory dysfunction, in this Northwestern Greek population. Of note, the sample size of our research, may serve as a limitation factor that affected this result.

Tobacco smoking was also shown to be a strong risk factor for hospitalization during COVID-19 pandemic. Daniel Puebla Neira et al., showed that significantly more former smokers were hospitalized and died from SARS_COV2 than current or never smokers(41). Similar results were found by David Simons in his study(42), in contrary with George N. Ioannou where no relation between smoking and the need for hospitalization(43). In addition, another Spanish study concluded that both active and past smoking is an independent predictor of poor prognosis in patients with COVID-19 and is associated with higher intensive care unit [ICU] admissions and in-hospital mortality(44).

As smoking is a well-known risk factor associated with greater subsequent increased severity of respiratory infections, we expected that in a same way it would affect the majority of patients with COVID_19. However, preliminary studies did not showed the expected results in real-world data (45)]. A chinese study found that the smoking prevalence among COVID-19 patients was 10.2%, (46), following the low prevalence of current smokers among hospitalized COVID-19 that is a common finding across several countries(46-49). In our study we investigated the association between active tobacco smokers and hospitalization. The percentage of smokers was 14% (n = 42) in the total sample and 20% (n = 30) in the subgroup of patients that recovered at home. The lowest percentage of smokers was noticed in the group of

patients that needed hospitalization (8%, n = 12). Aside this low percentage, we found that tobacco smoking was statistically significant associated with decreased risk of IDU admission similarly to other previously mentioned studies (46-48, 50).

However, our study is limited by the sample size that is not large enough to give an indicative result regarding the association between smoking and the need of hospitalization. The restriction to specific geographically isolated populations also limits the power of these findings'. So, the need for larger research trials that will investigate multiple racial groups should be a goal for the future.

5. Conclusion

The present study concluded that there is no relation between chemosensory dysfunction during SARS_COV2 infection and tobacco smoking. There is a statistically significant difference between active smokers with covid_19 and decreased risk for hospitalization. Our observations come to an agreement with previous studies.

Compliance with ethical standards

Acknowledgments

The authors would like to thank Dr. Nika Spyridon for supporting the data collection part of this research.

Disclosure of conflict of interest

We do not have any competing interests that might bias the content of this work or its publication process.

Statement of informed consent

Informed consent was obtained from all individual participants included in the study.

References

- [1] Coelho DH, Reiter ER, Budd SG, Shin Y, Kons ZA, Costanzo RM. Quality of life and safety impact of COVID-19 associated smell and taste disturbances. *American journal of otolaryngology*. 2021;42[4]:103001.
- [2] Kaye R, Chang CWD, Kazahaya K, Brereton J, Denny JC, 3rd. COVID-19 Anosmia Reporting Tool: Initial Findings. *Otolaryngology--head and neck surgery : official journal of American Academy of Otolaryngology-Head and Neck Surgery*. 2020;163[1]:132-4.
- [3] Huart C, Philpott C, Konstantinidis I, Altundag A, Whitcroft KL, Trecca EMC, et al. Comparison of COVID-19 and common cold chemosensory dysfunction. *Rhinology*. 2020;58[6]:623-5.
- [4] El-Anwar MW, Elzayat S, Fouad YA. ENT manifestation in COVID-19 patients. *Auris, nasus, larynx*. 2020;47[4]:559-64.
- [5] Konstantinidis I, Delides A, Tsakiroulou E, Maragoudakis P, Sapounas S, Tsiodras S. Short-Term Follow-Up of Self-Isolated COVID-19 Patients with Smell and Taste Dysfunction in Greece: Two Phenotypes of Recovery. *ORL; journal for oto-rhino-laryngology and its related specialties*. 2020;82[6]:295-303.
- [6] Athina ZARACHI VP, Orestis MILIONIS, Aikaterini N. LIANO, Eleutherios KLOURAS, Ioannis KOMNOS, Dimitrios FOTIADIS, Ioannis KASTANIOUDAKIS, Charalampos MILIONIS, Angelos LIONTOS. The Impact of Age and Gender and Their Association with Chemosensory Dysfunction, in Hospitalized and Self-Quarantine Patients with Covid-19 Infection, in Epirus, Greece. *MAEDICA – a Journal of Clinical Medicine*. 2022; 17[1]: 28-37.
- [7] Babaei A, Iravani K, Malekpour B, Golkhar B, Soltaniesmaeili A, Hosseinalhashemi M. Factors associated with anosmia recovery rate in COVID-19 patients. *Laryngoscope investigative otolaryngology*. 2021.
- [8] Menni C, Valdes AM, Freidin MB, Sudre CH, Nguyen LH, Drew DA, et al. Real-time tracking of self-reported symptoms to predict potential COVID-19. *Nature medicine*. 2020;26[7]:1037-40.
- [9] Islamoglu Y, Gemcioglu E, Ates I. Objective evaluation of the nasal mucosal secretion in COVID-19 patients with anosmia. *Irish journal of medical science*. 2021;190[3]:889-91.

- [10] Hopkins C, Surda P, Kumar N. Presentation of new onset anosmia during the COVID-19 pandemic. *Rhinology*. 2020;58[3]:295-8.
- [11] Bagheri SH, Asghari A, Farhadi M, Shamshiri AR, Kabir A, Kamrava SK, et al. Coincidence of COVID-19 epidemic and olfactory dysfunction outbreak in Iran. *Medical journal of the Islamic Republic of Iran*. 2020;34:62.
- [12] Abalo-Lojo JM, Pouso-Diz JM, Gonzalez F. Taste and Smell Dysfunction in COVID-19 Patients. *The Annals of otology, rhinology, and laryngology*. 2020;129[10]:1041-2.
- [13] Altundag A, Saatci O, Sanli DET, Duz OA, Sanli AN, Olmuscelik O, et al. The temporal course of COVID-19 anosmia and relation to other clinical symptoms. *European archives of oto-rhino-laryngology : official journal of the European Federation of Oto-Rhino-Laryngological Societies*. 2021;278[6]:1891-7.
- [14] Brandao Neto D, Fornazieri MA, Dib C, Di Francesco RC, Doty RL, Voegels RL, et al. Chemosensory Dysfunction in COVID-19: Prevalences, Recovery Rates, and Clinical Associations on a Large Brazilian Sample. *Otolaryngology--head and neck surgery : official journal of American Academy of Otolaryngology-Head and Neck Surgery*. 2021;164[3]:512-8.
- [15] Nishiga M, Wang DW, Han Y, Lewis DB, Wu JC. COVID-19 and cardiovascular disease: from basic mechanisms to clinical perspectives. *Nature reviews Cardiology*. 2020;17[9]:543-58.
- [16] Jin JM, Bai P, He W, Wu F, Liu XF, Han DM, et al. Gender Differences in Patients With COVID-19: Focus on Severity and Mortality. *Frontiers in public health*. 2020;8:152.
- [17] Samaranayake LP, Fakhruddin KS, Mohammad OE, Panduwawala C, Bandara N, Ngo HC. Attributes of dysgeusia and anosmia of coronavirus disease 2019 [COVID-19] in hospitalized patients. *Oral diseases*. 2022;28 Suppl 1:891-8.
- [18] Hornuss D, Lange B, Schroter N, Rieg S, Kern WV, Wagner D. Anosmia in COVID-19 patients. *Clinical microbiology and infection : the official publication of the European Society of Clinical Microbiology and Infectious Diseases*. 2020;26[10]:1426-7.
- [19] Butowt R, Bilinska K, Von Bartheld CS. Chemosensory Dysfunction in COVID-19: Integration of Genetic and Epidemiological Data Points to D614G Spike Protein Variant as a Contributing Factor. *ACS chemical neuroscience*. 2020;11[20]:3180-4.
- [20] Netland J, Meyerholz DK, Moore S, Cassell M, Perlman S. Severe acute respiratory syndrome coronavirus infection causes neuronal death in the absence of encephalitis in mice transgenic for human ACE2. *Journal of virology*. 2008;82[15]:7264-75.
- [21] Desforgues M, Le Coupanec A, Dubeau P, Bourgouin A, Lajoie L, Dube M, et al. Human Coronaviruses and Other Respiratory Viruses: Underestimated Opportunistic Pathogens of the Central Nervous System? *Viruses*. 2019;12[1].
- [22] Desforgues M, Le Coupanec A, Brison E, Meessen-Pinard M, Talbot PJ. Neuroinvasive and neurotropic human respiratory coronaviruses: potential neurovirulent agents in humans. *Advances in experimental medicine and biology*. 2014;807:75-96.
- [23] Bilinska K, Jakubowska P, Von Bartheld CS, Butowt R. Expression of the SARS-CoV-2 Entry Proteins, ACE2 and TMPRSS2, in Cells of the Olfactory Epithelium: Identification of Cell Types and Trends with Age. *ACS chemical neuroscience*. 2020;11[11]:1555-62.
- [24] Pinto BGG, Oliveira AER, Singh Y, Jimenez L, Goncalves ANA, Ogawa RLT, et al. ACE2 Expression Is Increased in the Lungs of Patients With Comorbidities Associated With Severe COVID-19. *The Journal of infectious diseases*. 2020;222[4]:556-63.
- [25] Hoffmann M, Kleine-Weber H, Schroeder S, Kruger N, Herrler T, Erichsen S, et al. SARS-CoV-2 Cell Entry Depends on ACE2 and TMPRSS2 and Is Blocked by a Clinically Proven Protease Inhibitor. *Cell*. 2020;181[2]:271-80 e8.
- [26] Shang J, Ye G, Shi K, Wan Y, Luo C, Aihara H, et al. Structural basis of receptor recognition by SARS-CoV-2. *Nature*. 2020;581[7807]:221-4.
- [27] Gülsen A, Yigitbas BA, Uslu B, Drömann D, Kilinc O. The Effect of Smoking on COVID-19 Symptom Severity: Systematic Review and Meta-Analysis. *Pulmonary Medicine*. 2020;2020:7590207.
- [28] Zhao Q, Meng M, Kumar R, Wu Y, Huang J, Lian N, et al. The impact of COPD and smoking history on the severity of COVID-19: A systemic review and meta-analysis. *Journal of medical virology*. 2020;92[10]:1915-21.

- [29] Patanavanich R, Glantz SA. Smoking Is Associated With COVID-19 Progression: A Meta-analysis. *Nicotine & tobacco research : official journal of the Society for Research on Nicotine and Tobacco*. 2020;22[9]:1653-6.
- [30] Reddy RK, Charles WN, Sklavounos A, Dutt A, Seed PT, Khajuria A. The effect of smoking on COVID-19 severity: A systematic review and meta-analysis. *Journal of medical virology*. 2021;93[2]:1045-56.
- [31] Hopkinson NS, Rossi N, El-Sayed Moustafa J, Lavery AA, Quint JK, Freidin M, et al. Current smoking and COVID-19 risk: results from a population symptom app in over 2.4 million people. *Thorax*. 2021;76[7]:714-22.
- [32] Eakin MN, Neptune E. Smoking and COVID-19: The Real Deal. *Annals of the American Thoracic Society*. 2021;18[10]:1610-3.
- [33] McConnell R, Barrington-Trimis JL, Wang K, Urman R, Hong H, Unger J, et al. Electronic Cigarette Use and Respiratory Symptoms in Adolescents. *American journal of respiratory and critical care medicine*. 2017;195[8]:1043-9.
- [34] Schier JG, Meiman JG, Layden J, Mikosz CA, VanFrank B, King BA, et al. Severe Pulmonary Disease Associated with Electronic-Cigarette-Product Use - Interim Guidance. *MMWR Morbidity and mortality weekly report*. 2019;68[36]:787-90.
- [35] van Zyl-Smit RN, Richards G, Leone FT. Tobacco smoking and COVID-19 infection. *The Lancet Respiratory medicine*. 2020;8[7]:664-5.
- [36] Kawada T. COVID-19 infection and tobacco smoking. *EXCLI journal*. 2021;20:1486-7.
- [37] Meng X, Pan Y. COVID-19 and anosmia: The story so far. *Ear, nose, & throat journal*. 2021;1455613211048998.
- [38] Al-Rawi NH, Sammouda AR, AlRahin EA, Ali FAA, Arayedh GSA, Daryanavard HA, et al. Prevalence of Anosmia or Ageusia in Patients With COVID-19 Among United Arab Emirates Population. *International dental journal*. 2022;72[2]:249-56.
- [39] Vennemann MM, Hummel T, Berger K. The association between smoking and smell and taste impairment in the general population. *Journal of neurology*. 2008;255[8]:1121-6.
- [40] Paderno A, Mattavelli D, Rampinelli V, Grammatica A, Raffetti E, Tomasoni M, et al. Olfactory and Gustatory Outcomes in COVID-19: A Prospective Evaluation in Nonhospitalized Subjects. *Otolaryngology--head and neck surgery : official journal of American Academy of Otolaryngology-Head and Neck Surgery*. 2020;163[6]:1144-9.
- [41] Puebla Neira D, Watts A, Seashore J, Polychronopoulou E, Kuo YF, Sharma G. Smoking and risk of COVID-19 hospitalization. *Respiratory medicine*. 2021;182:106414.
- [42] Simons D, Shahab L, Brown J, Perski O. The association of smoking status with SARS-CoV-2 infection, hospitalization and mortality from COVID-19: a living rapid evidence review with Bayesian meta-analyses [version 7]. *Addiction*. 2021;116[6]:1319-68.
- [43] Ioannou GN, Locke E, Green P, Berry K, O'Hare AM, Shah JA, et al. Risk Factors for Hospitalization, Mechanical Ventilation, or Death Among 10131 US Veterans With SARS-CoV-2 Infection. *JAMA network open*. 2020;3[9]:e2022310.
- [44] Navas Alcantara MS, Montero Rivas L, Guisado Espartero ME, Rubio-Rivas M, Ayuso Garcia B, Moreno Martinez F, et al. Influence of smoking history on the evolution of hospitalized in COVID-19 positive patients: results from the SEMI-COVID-19 registry. *Medicina clinica*. 2021.
- [45] Usman MS, Siddiqi TJ, Khan MS, Patel UK, Shahid I, Ahmed J, et al. Is there a smoker's paradox in COVID-19? *BMJ evidence-based medicine*. 2021;26[6]:279-84.
- [46] Farsalinos K, Niaura R, Le Houezec J, Barbouni A, Tsatsakis A, Kouretas D, et al. Editorial: Nicotine and SARS-CoV-2: COVID-19 may be a disease of the nicotinic cholinergic system. *Toxicology reports*. 2020;7:658-63.
- [47] Retraction notice for: "Characteristics and risk factors for COVID-19 diagnosis and adverse outcomes in Mexico: an analysis of 89,756 laboratory-confirmed COVID-19 cases." Theodoros V. Giannouchos, Roberto A. Sussman, Jose M. Mier, Konstantinos Poulas and Konstantinos Farsalinos. *Eur Respir J* 2020; in press. *The European respiratory journal*. 2021;57[3].
- [48] Ho KS, Narasimhan B, Sheehan J, Wu L, Fung JY. Controversy over smoking in COVID-19-A real world experience in New York city. *Journal of medical virology*. 2021;93[7]:4537-43.

- [49] Farsalinos K, Barbouni A, Niaura R. Systematic review of the prevalence of current smoking among hospitalized COVID-19 patients in China: could nicotine be a therapeutic option? Internal and emergency medicine. 2020;15[5]:845-52.
- [50] Hippisley-Cox J, Young D, Coupland C, Channon KM, Tan PS, Harrison DA, et al. Risk of severe COVID-19 disease with ACE inhibitors and angiotensin receptor blockers: cohort study including 8.3 million people. Heart. 2020;106[19]:1503-11.